November 08, 2013

03

0.2

0.15

0.1

0.05

y = -0.0375x « 0.2187

y = -0.0485x « 0.2645
y =-0.0498x + 0.2748
y = -0.0294x « 0.2734

y = -0.0024x « 0.3082
pS

X » B ¢

x

White
Red
Blue
Green

Ambient

= Linear(White)
== Linear(Red)

= Linear(Blue)

—Linear(Green)

— Linear{Ambient)




November 08, 2013

Backt D : EsT. Ok QuesTyon
oy o Mms ) Aeeecto
pemes e | TUSIDE OF CHLORDPLASTS | 53 FED.DF
THILAKoI D MeM. Rinss, L.
Gugen FumenTCionopuvet krTacted
oesmisane |V) 0, REEASEDTO AR | To THoSE
o™ L) ¥ = Al THRIOGH Mew Qe
Bctns” |23 1 Repeace Tose Losr B4 Gogapy,
i | Ken e hasog 86D, \
et We See GuEeN.... KEREGED.. ..
Ts Kesoers T HHE o= Leaving
S DA P No AU B, |% HuaMi
;é‘ Acepra-CGaRnGES To | X 5
2| Goomsss wred Ir tPoes ¥
e | |JSED C,,u,((, METE& Z:l y
Measoie 0‘3':;’ Lt. Soun§

. 0\
Green 027
Lolr. 002 ¢\




November 08, 2013

tatGlrP

Conclusion
Uses 15¢ ) - — :
n the background to
compare the relative rates KE-LA'TE- I o @ JES ] i 0A)
of photosynthesis among
bl nd white

lue
hght. (Be sure to address —
hght absorbed vs light — S
reflected.) ’H e Am

Qeeed 5. Has Suepers vaLy

o Rare, Tais Ts Bec | OHER
Pimsyn. THAN Gloka PHYLL

T A Tan Caw U $€ Green)

HigHes TIATES Were . ..

GegeN L. b€ [ Lo LigHT Lo,
L Low L Rate No UsAR LE '

AEQ. B TE a-Frean Gk,

Rages ™ 1) Ked 4 BLue
iljﬂ \WE BE(»I A-g Est BA(ICGI%A
Rey 4 BLE USARLE fecq

WED ... ..

R Rxn

feeq.

—_— —

\




November 08, 2013




